==




PoO1

Poo2

P0o03

P004

PO05

P0O06

P0O07

PO07

pPol1

Po14

Pol16

pozl

P039

GONTENTS 8 %

NS
COMPANY PROFILE

B i

MOBOW PRODUCTION BASE
g

WEICHAI

T

YUCHA

w5

SINOTRUK

—rsps

FAWDE

L

SHANGCHAI

B

CUMMINS

e

COMPOSITE

PN

EASY INSTALLATION FILTER
@3

AIR FILTER

FamEE
PRODUCT MANUAL

EFHEE
MONBOW NEW PACKAGING

WA BE JIE 13

CERTIFICATE OF ASSESSMENT

ok gL H ]
SHA, ERUATEARNIGNS

256, BRIEN.
L

TERSIN T s

N

COMPANY PROFILE
NEED

SENEFARAVEETWMNELEERTL.
&7 HENRS A —EHESHRL,

PEES 20034, HWAEREERIL. %£E. =K.
BERESEFEANESRAE. ACHFREST
HERE. TEUM. 2. =ENE. ZEB
AERF|RAERTMI00Z @A, ~REEKI
W LRGBS BB,

AT TF2010EFF R B E=EH, FF20124
IRFREE, HALZFFLURERTMEREEFTAX
X, G#EfR1205E. HAEERRML FE45000
Tk, MAEI000F K, RIBAUZT, A5
T20114E9 A 3@iTISO,/TS16949 5 B TR{A & F9IAE
20135 1 AT NP EZ R MM, HAESEMs|#
EHBOEFERRKERENIEE, AFRRERES
ERAT IR SLAY A,

MAEMEI, ASELESRR LTI T EMXH
R, AFHEEERLVERKFIVHEHRKE, &
W HRE &SR~ RTTRES.

SRAEAE KRAFE. WELE, BHEKE.
BTEIH" MELEES, ATURLAEER. B
BAMRIRA > REA. SR —%RiE

%, it 4 4k

FRGFHTERFRARARLEZRS
GF2FBAREREREAS

2N S b S

FRFARXER T

001



N\-nbovv
?i#%ﬂ%ﬁ@-

",_—

K S

-
ey




Monbow E%
. i

E F 2

Monbow 2%

b

wm ok ® - B F &l &

moquojy «

e

moquoly

MB-612630080205
()

SIZE (R+F) :

107 x 183

THREAD SIZE (24 R~) :
114

MB-612630080087

SIZE (R~) :

©106x258

THREAD SIZE (84 R~T) :
M32x1.5

MB-61000070005

SIZE (R) :

®91.5%208

THREAD SIZE (#2451 R~) :
1712

MB-612630010239

SIZE (R+) :

©110x195

THREAD SIZE (4R~ :
M30x2

MB-612600081294

SIZE (R+) :

©107 x 229

THREAD SIZE (84 R~T) :
114

moguopy
5

MB-612630080088
(Hhn#k)

SIZE (R+}) :

®107x229

THREAD SIZE (g5RF) :
114

MB-612630080203

SIZE (RF) :

©107x245

THREAD SIZE (B4 R) :
1714

MB-612600081334

SIZE (R~f) :

®91.5x178

THREAD SIZE (B4 R~) :
M20x1.5

MB-612600081335

SIZE (R+) :

107 x 229

THREAD SIZE (84 R) :
114

Moaquoll

Sugey
HFEZLOL-000EH

HIALTS WD
moquojy

110
Moquon
e

—_—

MB-231-1105020

SIZE (R) :

©81.5x 137

THREAD SIZE (25 R~) :
M20 x 1.5

MB-A3000-1105030

SIZE (R~F) :

$81.5x160

THREAD SIZE (S|4 R~) :
M16x1.5

MB-M3001-1105240

SIZE (R~+) :

107 x 175

THREAD SIZE (4 R~F) :
M24x1.5

MB -m3000-10122408

SIZE (R+) :

©107 x 155

THREAD SIZE (5 R~ :
1.1/8"- 16

ME-430-1012010A

SIZE (R) :

®106 x 258

THREAD SIZE (B4 R) :
1.1/8"- 16

sonz ot -ouei1

mogquoll

—

MB-A3000-1105020

SIZE (R~F) :

©81.5 x 160

THREAD SIZE (24 R~F) :
M14x 15

MB-150-1105020A

SIZE (R~F) :

©107x150

THREAD SIZE (B4 R~ -
1"-14

MB -p2000-1105140-937

SIZE (R~f) :

©81.5x199

THREAD SIZE (4 R~) :
M16x1.5

MB-640-1012210

SIZE (R~F) :

©107x155

THREAD SIZE (B4R :
1.1/8"- 16

MB-L3000-1012020

SIZE (RT) :

®106 x 258

THREAD SIZE (B4 R) :
1.1/8"- 16

003

004




N\onbpw' =

WO R

B F &

Monbow E=E
Wom kR W - B F o8l

W30
17470
MOquUOAl

—

amENE i
000z101-051 /
-
[PETREET A |
moquopy 4 |
= "

e

———

MB-186-1012000

SIZE (R) :

©91.5x 155

THREAD SIZE (#2451 R~F) :
1"=12

MB-530-1012120A

SIZE (RF) :

®91.5%x198

THREAD SIZE (841R5F) :
1712

MB-150-1012000C

SIZE (RF) :

®107 x 150

THREAD SIZE (8841 R~) :
1"-12

MB-VG1560080012

SIZE (R+) :

©91.5x208

THREAD SIZE (4R~ :
M18x1.5

MB-vG 1540080110

SIZE (R~F) :

©106x208

THREAD SIZE (84 R~) -
1"-14

1170

_ moquop

< -

V02121015

Y3 10

moquoj

SIZE (R~f) :

©91.5 x 190

THREAD SIZE (24 R~) :
1"-12

MB- 630-1012120A

SIZE (R~F) :

©91.5 x 208

THREAD SIZE (B4 R~) :
1”12

MB-VG1540080311

SIZE (R+) :
®107x229

THREAD SIZE (84 R) :
1714

MB-VG14080740A

SIZE (R+) :

®81.5x168

THREAD SIZE (B4R~ :
M16x1.5

M;quuw

MB-H61500080043

SIZE (R~f) :

®81.5x 137

THREAD SIZE (5 R~) :
M16x 1.5

SIZE (R~f) :

®91.5x135

THREAD SIZE (25 R~) -
1942

MB-1117060-29D

SIZE (R~f) :

81.5x160

THREAD SIZE (84 R~) :
M16x1.5

MB-1117050A81DM

SIZE (R+f) :

©106x258

THREAD SIZE (5 R) :
M32x1.5

MB-1117050A52D

SIZE (R~F) :

©91.5x145

THREAD SIZE (B4 R) :
M16x1.5

MB-H61500080044

SIZE (R~f) :
©81.5 x 137

THREAD SIZE ($5R~f) :
M16x1.5

MB-1117050-29D

SIZE (R~T) :

®81.5x160

THREAD SIZE (5(R~) :
M14x1.5

MB-PL420

SIZE (Rf) :

®110x1313

THREAD SIZE (4R}
1"-14

MB-1117011-621-0000w

SIZE (R+f) :
©91.5x145

THREAD SIZE (4R :
M18x1.5

SIZE (R :

©91.5%208

THREAD SIZE (845R) :
1% 12

005

006




Monbow E=

WM R E

B F & &

Monbow E%

Eid

ok W - B F &l

Monbow
T3

Monbowr
Wwroo;

=

MB-11170108-630-0000

SIZE (Rf) :
©91.5x145

THREAD SIZE (845 R~) :

M18x1.5

MB-D638-002-02

SIZE (R~ :
©91.5x170

THREAD SIZE (#8241 RF) :

1"-14

MB -p638-002-802a+A

SIZE (R~f) :
®106x208

THREAD SIZE (8241 R~) :

1"-14

MB-LF16011

SIZE (R~f) :
d76x85

THREAD SIZE (84 R~F) :

3/4"-16

MB-wF2071

SIZE (R~T) :
®93x100

THREAD SIZE (84 R~) :

11/16"-16

llonbow

MB-1012010-36D

SIZE (R~f) :
®91.5x170

THREAD SIZE (84 R) :

1°-12

MB- D17-002-02

SIZE (R~) :
$106x258

THREAD SIZE (B4 RT) :

1.1/8"-16

MB-WF2054

SIZE (R~) :
$93x160

THREAD SIZE (84 R~F) :

11/16"-16

MB-WF2075

SIZE (R~T) :
®93x135

THREAD SIZE (B9 RT) :

11/16"-16

Hanbowe
L e

LFO001

MB-LF3349

SIZE (R) :
©91.5x170

THREAD SIZE (845 R~f) :

1"-16

MB-FF5052

SIZE (R+F) :
©75.1x118

THREAD SIZE (S|4 R~) :

M16x1.5

MB-Fs1212

SIZE (R~+) :
@91.5x170+M14

THREAD SIZE (g R~F) :

1714

MB-FsS19789

SIZE (R~F) :
$107x230

THREAD SIZE (8B4 R) :

1714

MB-LF9001

SIZE (R~) :
$119x290

THREAD SIZE (B4 R) :

M95x2.5

e

Horbow

——

MB-Fs1280

SIZE (R) :
®91.5%135+M14

THREAD SIZE (25 R~F) :
13/16"-18

MB-FF5327

SIZE (R~T) :

®75.1x118

THREAD SIZE (8B4 R~T) :
M16x1.5

MB-LF9009

SIZE (RF) :

®117x305

THREAD SIZE (125 R}) :
2.1/4"-12

MB-Fs1003

SIZE (R+t) :
®91.5x210

THREAD SIZE (4851 R ) :
114

MB-LF3000

SIZE (Rf) :

©119x290

THREAD SIZE (825 R~F) :
2.1/4"-12

007

008




N\onbp\m =

Monbow 2%

L B F o8 # W R W - B OF o8 K
MB-LF670 MB-LF777 MB-Fs1240 MB-LF3345
a SIZE (R+F) : SIZE (R) : SIZE (R+F) : SIZE (R+F) :
Meraiow ©119x248 et ®119x248 "ﬂnbown . ©93x90 ®93x135
Rirsr THREAD SIZE ($25(R) : = THREAD SIZE (824 R) - AR THREAD SIZE (24 R) : THREAD SIZE (8241 R<) :
1.1/2"12 e 1.3/8"16 . 1714 1”16
.
MB-LF16015 MB-LF16175 MB-FF5580 MB-FS19594
SIZE (R+f) : SIZE (R+f) : (BT = SIZE (R+F) : SIZE (R~F) -
©91.5x170 »106x263 i ©93x170 ©76x118+M14
THREAD SIZE (4 R~) : THREAD SIZE (84 R) - ; THREAD SIZE (85rR) : THREAD SIZE (8251 R~) :
M27x2 1.1/8"-16 7/8"-14 314"-16
MB-FF5485 MB-FF5470 MB-WF2076
- SIZE (R~F) : SIZE (R~f) : SIZE (R~F) :
Dersass ©93x191 ®91.5x145 N ©93x190
THREAD SIZE (84 R) : THREAD SIZE (825 R<) - HoguO} THREAD SIZE (84 R :
\_/' M20x1.5 M18x1.5 { 1/16"16
e -
- MB-FsS19816 MB-Fs19922
SIZE (R+F) : SIZE (R~f) :
©119x203 ®117x193
THREAD SIZE (€45 R~ : THREAD SIZE (£4(R~) -
1714 1"-14
<4 A--'.h
=
MB-Fs1242 = MB-FS1242 #5:47)
SIZE (R+F) : SIZE (Rf) :
©93x165 o ©91.5x155

THREAD SIZE (84 R~T) ¢

1"-14

Monbow

—

']

THREAD SIZE (85 R~) :

1"-14

009

010




Monbow E=
woaE R W - BF 8 K

Monbow 2%
H o= kK B - B F el #H

MB-cxo0710

SIZE (R) :

©75.1x118

THREAD SIZE (8251 R~) :
M16x1.5

MB-JX0810

SIZE (R~ :

®91.5x135

THREAD SIZE (84 R~T) :
3/4"-16

MB-JX1008A

SIZE (Rf) :

®107x107

THREAD SIZE (8841 R~) :
1712

MB-JX0814

SIZE (R :
p91.5x170

THREAD SIZE ($25R~F) : ER
M24x2 -

MB-wB202

SIZE (R~) :
©91.5x125

THREAD SIZE (84 R~) :
M20x1.5

MB-cxo0708

SIZE (R~f) :
®75.1x100

THREAD SIZE (85 R~T) :

M16x1.5

MB-CX0706L

SIZE (R~) :
®79x83

THREAD SIZE (B4 R) :

3/4"- 16

MB-JX1023A

SIZE (R~f) :
®106x258

THREAD SIZE (B9 RT) :

1.1/8"-16

MB-CX0710B4

SIZE (R~) :
$81.5x137

THREAD SIZE (84 R~F) :

M20x1.5

MB-IX1018

SIZE (R~) :
®106x208

THREAD SIZE (B9 RT) :

1.1/8"-16

MB-JX1008L

SIZE (R) :
®107x107

THREAD SIZE (845 Rf) :

M22x1.5

MB-Jx0811A

SIZE (R+) :
©91.5x135

THREAD SIZE (S|4 R~T) :

112

MB-JX1010

SIZE (R~) :
®107x130

THREAD SIZE (g R~F) :

M24x2

MB-JXo0818A

SIZE (R~T) :
$91.5x208

THREAD SIZE (B4 RT) :

112

MB-DX150

SIZE (R~) :
$81.5x118

THREAD SIZE (84 R) :

M16x1.5

901£0X"

30473

MB-Ix0810Y

SIZE (R~T) :

©91.5x125

THREAD SIZE (8247 R~F) :
M24x2

MB-IX85100C

SIZE (R~f) :

©91.5x125

THREAD SIZE (B4 R~ -
M24x2

MB-JX0806H

SIZE (R~f) :

$91.5x100

THREAD SIZE (84 R~) :
M20 x 1.5

MB-wg62

SIZE (R+F) :
®91.5%208

THREAD SIZE (84 R) :
112

MB-IX0710cC1

SIZE (R~f) :
®75.1x118

THREAD SIZE (B4 R) :
M20x1.5

011

012




N\onbp\m =

Monbow 2%

MOquo

MB-s12600081334 (/ntg)

SIZE (R~F) :

©91.5x178

THREAD SIZE ($251R~) -
M20x1.5

MB-WDK999/1 (nig)

SIZE (R) :

®91.5x145

THREAD SIZE (B4 R) :
M18x1.5

B OF O# o R W - B F o8 H
MB-wWB7031 MB-JX0814C1 MB-LF9009 (ng) MB-JX0810A4 (1)
SIZE (R~f) : SIZE (RF) : N SIZE (R~f) : SIZE (R+) :
©91.5x170 ®91.5x170 Faore ®117x305 e ©91.5x135
THREAD SIZE (25 R~f) : THREAD SIZE (85 R~f) : o THREAD SIZE (825 R ) : moquon THREAD SIZE ($25R) :
1712 1712 2.1/4"-12 1712
i e
MB-PL270 MB-R90P MB-WK962/7 (jnig) MB-W940/20 (jni7)
SIZE (R~F) - SIZE (R+F) : SIZE (R+]) : SIZE (R~F) :
©107x150 ®109x155 oo ©91.5x208 ©91.5x145
THREAD SIZE (85 R~f) THREAD SIZE (#25rR~f) : THREAD SIZE (2% R]) - THREAD SIZE (8247 R~T) -
1"-14 114 M18x1.5 M18x1.5
——

MB-R60P (:54%) MB-CX0710C1 (i) MB-s12630010239 (1)
SIZE (R~f) : SIZE (R) : SIZE (R~f) :

| D107x120 T ®76x133 s ©106x195

| THREAD SIZE (8245 R~f) 470 THREAD SIZE (825 RT) : | moquoyy THREAD SIZE (8245 R~}) :
1714 M20x1.5 M30x2

MB-JX0818Ani5)

SIZE (R~) :

$91x208

THREAD SIZE (824 R~T) :
1"-12

MB-CX0710 (mig)

SIZE (RY) :

®76.3x136

THREAD SIZE (84 RF) :
M16x1.5

013

014




Monbow E=
. #

BE F #

Monbow 8%

w E X W - B TF o8

i

MB-w950/31 (i)

SIZE (R~F) :

©91.5x170

THREAD SIZE (825 R~F) :
112

MB-JX0811A (juig)

SIZE (R~f) :

®91.5x135

THREAD SIZE (85 RF) :
112

MB-JX0814 (i)

SIZE (R~f) :

©91.5x170

THREAD SIZE (& RF) :
M24x2

MB-JX1008A (i)

SIZE (R+t) :
©107x107

THREAD SIZE ($25{R <) :
112

moquojl

MB-JX1023A (=)

SIZE (R~T) :
©106x258

THREAD SIZE (£ R~F) :

1.1/8"-16

MB-WB202 (juiz)

SIZE (R~) :
®91.5x125

THREAD SIZE (B4 R~) :

M20x1.5

MB-JX0810Y (sni)

SIZE (R~f) :
®91.5x100

THREAD SIZE (B9 RT) :

M24x2

|

MB-K3249A

0D (R~) :
323

ID (R) -

END 10D:216
END 2 OD:24
HEIGHT (55%) :
490+11

MB-K3250A

0D (R+) :
©323

ID (R~F) :
END 1 OD:216
END 2 OD:24
HEIGHT (/) :
500+11

MB-K3251A

0D (R~f) :
$323

ID (R) :
END 10D:216
END 2 OD:16

HEIGHT (%) :

510+11

MB-K2448A

0D (R~F) :
©240

ID (R~F) :
END 1 OD:145
END 2 OD:13

HEIGHT (F/&) :

480+13

MB-K2342A

0D (R+F) :
®235

ID (R¥) =
END 10D:135
END 2 0D:13

HEIGHT (&) :

420+10

MB-K3249B

0D (R~f) :
@210

ID (R+) -
END 1 0D:180
END 2 OD:24
HEIGHT (&%) :
435+11

MB-K3250B

0D (R+F) :
210

ID (R) :
END 1 OD:180
END 2 OD:24
HEIGHT (5) :
445+11

MB-K3251B

0D (R+) :
©210

ID (R}) :
END 1 OD:180
END 2 OD:16
HEIGHT (2 :
460+11

MB-K2448B
0D (R~F) :

END 10D:150
END 2 0D:140

ID (R+)
END 10D:110
END 20D:18

HEIGHT (Zf%) :
445+% R

MB-K2342B
0D (R~F)

END 1.0D:146.
END 2 OD:130

ID (R~F) :
END 10D:100
END 20D:13

HEIGHT (5&) :
410+10

016




N\onbpvv %%

LA S ]

B F 8

Zi€ AIR FILTER

Zi#& AR FILTER

Monbow E=
Wik W - B F & &

MB-K2640A

0D (R~f) :
©260

D (R+) :
END 1 OD:170
END 2 OD:16
HEIGHT (&) :
400+10

MB-K3046A (5x)

0D (RF) :
®300

ID (R~) :
END 1 0D:200
END 2 0D:18
HEIGHT (F) :
465+11

MB-K3046A (7x)

0D (R~f) :
303

D (R+) :
END 10D:193
END 2 OD:18

HEIGHT (5% :
465+11

MB-K3052A (%)

0D (R¥F) :
@303

ID (R~f) -

END 10D:193
END 2 OD:18
HEIGHT (5/F) :
520+11

MB-K2648A

0D (R=F) :
D260

ID (R~) :
END 1 OD:170
END 2 OD:18
HEIGHT (5] :
480+10

MB-K2640B

0D (R~f) :
@160

D (R+) :

END 10D:129
END 2 OD:16
HEIGHT (§F) :
350+8

MB-K2640B (%)

oD (R) :
190

D (RY) :
END 1 OD:158
END 2 OD:18
HEIGHT (Z/%) :
440+11

MB-K2640B ()

0D (R~f) :
185

I (R+) :
END 10D:155
END 2 OD:16

HEIGHT (5/%) :
440+11

MB-K3052B (75x)

oD (Rf) :
®185

D (R+) :

END 10D:155
END 2 OD:18
HEIGHT (F%) :
500+11

MB-K2648B

0D (R~F) :
D163

ID (R~F) :
END 1 0OD:132
END 2 OD:18
HEIGHT (5/F) :
45048

017

MB-KU2337AB =)

i
1

0D (R+f) :

@230 'ii

D (R) : i

140

HEIGHT (2F) :

370+ £20 + T14 ‘

MB-KU2841AB 7

0D (R~f) :
@280

D (R+) -
@190

HEIGHT (5%) :
410+ 122+ T14

018




HEZFHIRELR R
BIRE B & R
SENFASERTHUE
EHIEES, BE
EXFUEMERE

With the rapid developme
been offered wide space.As
being established and advanced
can stand on a higher starting po
reform and development,we sticl
persistence,continuing pursuit,unity
exploration and innovation.With grez
encouragement,all the workers in m
to create a more splendid frture of monb:




N\onbpv\v =

N\onbpvw =

S
i

WO R B F 8 # o kW B F #l
R FSER N AsEE
whE | FERES RS - , %31 miE ERES RS - ES ]|
bz EE £ 3]
FS1242 3355903 RRHEEML Fhi-IK LF3349 3908615/3932217/LF3552 4BT/6BT/6-590/6B5.9 EQ145/EQ153 it
FS1000 3329289 QST30-G1 DFHAK B 4140 FRIHE-7K FF5052 3931065/3931063/FF5074 4BT3.9-G1/4BT3.9-G2 DGDA/DGDB #im
FF5485 4897833 6CT FRA, FE. BB AR FS1280 3903410/3930942 6BTAS.9/6-590/6B5.9 EQ145/EQ153 #im-7K
LF16015 4988297/4897898 R R A | LF3720 Jx0814 ZHKEQ140/% F14100 Mk
LF3000 3318853 6CT8.3-G/NT855;NTABS5 DGEA/DFBF/DFCC HLd EQ140 JX0814/LF3720 ENEQ;:SQZQ‘;UOMW Hlid
o
LF2009 3401544 6CT8.3-G/NT855;,NTA855 DGEA/DFBF/DFCC 3 LX3722 JX0811F EQ140-2/2= A EQ6100 L5t
= 3 ST
LF870 3313279/3889310/3313280 KTA-38-G2/KT855-G4 DFJA/DFJB/DFCC Hlith DX150 YCX-6327-937 6BT.EQ145/EQ153 = %;_%g%;;gzu,ﬁ #rim-7k
3T
LF777 3304232/3889311/3313283/4/9 KTA19-G3/KTA38-G3 DEDB/DFJC bopiilh: CX0710C R #6102 LREHF i
Fs1212 3308683/3315843 LTA10-G3/KTA19-G3 DFAB/DFAC/DFFC PRS-k CX07108 R 36102 EREHF R E-7K
LF3325 3310169 KTA50-G3/KTA38-G3 DFTC/DFLC Hlih FF5327 6BTA5.9/6-500/6B5.9 | COT4SEQISSBMBERTNR | e
BHf4105/4102
FREBET W g BBBEF  D5010477 i .
CUMMINS | LF3548 3919562/P553548 R HloH CUMMINS 855 FF5470 RARE i
3 D5000681 o
FF202 3309437/299202/3313306/FF5346 VTA28-G3/KTA38-G3 DFCC/DFJC PR 015 LF16175 EREE Hlid
. D5001858 -
FF105 3315844 NT855-G6/KTA19-G3 BREBHTNK. 3] 001 FF5474 EREHE BFE
FF105D 3315847/156172 NT855-G6/KTA19-G4 | FREBHINK . DISfRAUKIERL | #Aih-K 3+1 -2
WF2053 KT-2300/KTA- i —_— -
Siiage 3305369/4058965 2300(KT38)/KTA-3067 F%eD6114 K FS19789 3259916 RREERS HRSE-7K
WF2073 4058964/3315115/26550001 6C8.3,061147K3 BERRET NTES] AEIK FS1040 3101872 BRAST £ B #hi-7K
WF2071 3314581/3315116/3105367 KT LIBHIKTA: Je:h ARK LF691A | IR-0716/2P4005/2Y-8097/4W6000 3408/3412 usm55355;;nﬁ07§g75u505u151 Hl3h
1150(KT19)/NT-855;NTA-855 4 SUFHEHIE
WF2054 3315788/258264 NT-855 DFBF/DFCB AEIK FS19594 FEEE #Rh-7K
KTA38-G1/KTA38-G2/KTA38- e .
7 FS19816 4988297 Il ® 1 I R 3H-
WF2075 3318318/3316461/3305370 dieadipah DFJA/DFJB/DFJC/DFLC AKX B AREREFFER #im-7K
WF2076 3318319/3310272 GTA19 BEEAHINTSS5 AHIK FS1003 4070801/FS19596 QST30-G1 BRER Hhim-7K
LF3345 3903224/3908616/LF3553 4B3.9/4BT3.9 FHERHT4BT oI LF9000 3101868 HLi

3.9T/HD680.70/HD1200

021

022




N\onbpv\v =

N\onbpvw =

L B F & Wmom R B F ot #
N AR N FSEE
Rhg RS RS - el R mRES RS - el
i 3] R it}
SR8 R /DFHAR s H14/= g ’ —RBE R EHI6DF2, g
LF9001 3101869/3406809 QST30-G1 = RIAY 3 WDK725 1117010-454-0000M 6DF2 1117010-454-0000M 3]
T -
FS1022 3800394 ik W940/17 251117010-53D IM-1 AB=R ‘2%281 11010 st
FF5580 3973232/3959612 120T/E % BAL.4£FH340/350 | i W940/18 1012010-29D CA6DL —RER=%7h#11012010-29D,  #Li
e = -
FF5488 EEIRRET R #RIH W11102/27 251012010-53DM Jm-1 "D**&;ggl,j&m 2019 2
BB » 5 — e =g 5
CUMMINS  LF16011 E4£85/60/65/ M2 H1 EX ) -1 i W1170/12 K= ERR= R FHH A3
LF16034 37563-07100 4900378 HLith WP11102 251017010-53DM IM-1 7';1&5752?:13155101 7010- | s
3 E B ENFKV % 5190P 148-156,1521- 5 FS-BLO12MT A /M se. T 56105, 5
LFe67 2P-4004/IR-0658 814S/N.816S/N gt s HLil Jx0818 LF3784 610.00.07.0005W962 | o loo” U0 AT e HLit
LF9002 P559000 X ERBITQSRS Hli# CAB110-2 %6110, CA151 it
EQA9HEREF/F, 1-1.50% " 1017011- i " "
LF3721 JX0806 ERUNE i 200M (¢4) D5001858001 R = HERRRJ6 T
CX1014A1 MG4010104100 % 11 HE A ok dolzonts FREHA ST
20DM () i ’
1012010A5 p T 5 E6113, B11AAEH. 4bR/ 5
D R REEBHRR HiE . JX0710C1 W719/16 $BLE6113IEN R HLik
SAVIE YC6105,6102,EQ140,EQT §46110, 4110, 4113, £
01181245 1117050A52D K REIBAR i CX0710 s ' w6105, 6102, 6108 | A
FS19607 _ " 9
) 1117040-D6 K LECABT10ZW KLECABT1OW. B MK itk CX0711 1117060-29DB 556113 B #hi-2K
FF5484 y ; .
(=) 1117050-D6 F 4CA6110ZW K LCAB110ZW PRIE CX0709A1 1117050-29DB £74£6113 B HR3H-7K
FAWDE 856113, 6110 (BE) (§5%E) s
JX1023 D17-002-02 D6114 AKZAD12010, k06114 BLeT | AL JX0710C2 492Q LF16040 455561131 FE A Jtm“f’mﬁ%ﬁ%%m TE| e
%, IR, 272 3
i $55£6113/—5CA3168 BRI L = 1118100F-DK DKL £ i
1012010A . g ;
D6 LF16041 K LECAB110ZW ik WB202 1012010-X2,LF16012,JX0810B CA498 —R LTI K 5E498 HLid
10122%1 - JX0810A4 K%CA“”O‘@%SDLE% MR 5% L3 CX0706L CA498 TH. TR AX. B8 #om
’ . 1307020A- s e o
W950/31 1012010-36D Bk HEI330. 350 HL Sen SX0807A AR ($556DL) AEIK
$54£4113Q, 4BKZ-05- 5 e -
JX1018 10120102 2% HLi DX600 AFE 3z
JX1020 1012010-D6 YC6110,6112,CA235%! L6113, —SMBH Hlif WDK999/1 11170001-630-0000 6DL-3513 —RE% 3]
— R T4E6DL-3514 s
JX1008A1 1012026-4BKZ-022 P FEELE. L4113 H38 WDK999 1117010A-630-0000 6DL-3513 ;11701%_630_0000 by

023

024




N\onbpw' =

N\onbpvw =

o RN B T & # B oHE KRB B F ¢l #
HAEE HAEE
RkE RS RS — %31 g ERES R4S — e
E&H =5 & 5
‘WA940/4 JM-1 — AR =RFH ARk CX0710B1 231-1105020 YC6108ZQB ElimE. iyt HRsH-7K
L | wBe202E K b2498, —RATHE H5 RE0PE 1T 23401-1440 YC8112ZBQ B K ES) itk
-
FAWDE
PL270 —RREER -7k CX0710E YC4110ZQ -7k
PL420 B, 128, KBk FRim-K DX800 CX1014E2 SLE. Bk, B4 FhH-7K
JX1013A M3000-1012240A YCBM220G 3t JX0810 CA000-1012011A YC2108 ik
CX1014A M3001-1105240 EEYCEM220G FAEED6114 Rs-k CX0710D E L6105 1FE6105QC o
Jx0817 530-1012120A YC4108ZBQIYC41122BQ st 5 cX1018 G5800-1105140A H= EL ST 3]
o
YUCHAI
JX0813 186-1012000,LF 16112 YC6112ZBQ WERAE (HE) 3 €X1020 ©5800-1105140C %= EER=KDH 3
JUX0818A 645-1012100,LF3784 YC61050/61020/6018 iﬂ%;tﬁ, ggiigos, s CX0817A D2000-1105140 YC4D140-30 Esm =R o
CX0710 YC6105Q/6102Q F 6105, $556110% 3] it CX0817B D2000-1105350 EERS R s
JX1023A K - G ek ‘
Gy 430-1012010A,430-1012020 YC6108ZBQ ELEYCE108ZQ, KL 3 CX1017 G5800-1105240C %= EHER= 2T -7k
. R, F34A102 ’ -t 4
CX0710B3 231-1105020 YC6108ZBQ, 14 7 B4113, STEET #R3E-K JX1017 JB5F1-1012020 EER=KFN 38
‘W3000-
Tae | JX0B16A 188-1012000 ER61122LQ/M 4102, i 1105100 FLAF/MW BRIE s (8
YUCHAI ‘F;E;
JX0816 YCB105Q/YC6102 ER=MEF HL3 1‘195%30 FLE4F/5W fRIE gh ()
Jx1011 150-1012000A YC6112ZBQ BEGHZI-)BTJ‘EI xa 3t JX1023 D17-002-02 DB114 FE6114/6113 B4 £45 | Al
JX1011B 640-1012210 15607-1630 Yca110zQ, e E£6108, HEFEH700 HH D6114 D638-002-02 D6114 o3
CX1011A YCB112ZBQ Fe . ’ —— FD6114 14K 5| TI2% e
F519686 150-1105020A 6112,YC6M,YCB108 HERLE HR5E-7K CX0814C D638-002-02 D6114 FREE 3]
cX1011 YC6112ZBQ E&6112, £, T -k DeSs 00 DB114 =% 3]
3 . ®h. A i 802A+A B -
SHANGCHAI -
DX200A YC6112ZBQ,YC6108ZBQ wEKRZ PRIk R60-10-HP D638-002-04A D6114 TERAFEF R30-2K
E24£6108, 4112, 4110D, D00-305- e - i
CX0709A A3000-1105020 YC6108ZQB KA Rk 02+A = LEE =Rl WhiE-7K
EL6108. BUI/RHIT. %
-1105030 YC6108ZQB e AT g
CX07128 A3000-110 Q A st #hih-7k
JX1012 640-1012210 Yca110zQ TBAVIOHE, —ANER | 4
i

025

026




N\onbpw' =

N\onbpvw =

B o R B T & # B oHE KRB B F ¢l #
B _ R FASEE B B B RS B
Bl Fame Ffs . %5 Rk RS RS . %51
£ k=) EEh %5

. y— 612630080

w9o62 JLX-162D,01174421 WD615 HEITARWDE1SIE R bl FS19769 HinHhes HEEM=RFN HRsH-7K

F5/6L912 088

UJO34A VG61000070005 WD615 % it VGJE:SOB UC-4036 D12.46-40 EEEE, AR o3
VG154008 |

UC-206 HB1500080043 WwD615 AR -k i UC-4023 %= TAKS LI ok

uc-206C H61500080044 WD615 Hr AR BRIE-7K VG(;12514$OB ucC-4035 R= FER=KE P
H |

WEICHAI =< -

’ . . - VG154007 . FXER/HOWORK = | e = N
Uc-220 VG-14080739A WD615 S PRk s uUc-10388 gt R = EaH P
Uc-220¢ VG-14080740A WD615 B PRk vegggoa UGC-4928C %= BAR=REN S5

. VG154008 _ i :
C0813A2 WD615 HFA R i i WK940/20,1117011-621-0000 K= FAR=RFHY. CASDLI-3IE4 st
c”*’,li“z' WD615 HiAR 3] W11102/7 ®= EEGARE. D1036-42 | L
P-
C0813A3 WD615 HFATR o JX85100A 4900r4930/4050/41020 | B 4905{0;3;9‘ 49501 4
- s . 490Q. 493Q. 495Q. | &71. 490Q. 493Q. 495Q .
2010 500F G WD615 HAR-ER by JX851008 2105Q. 4102Q 21050, 41020% it
s R 490Q, 493Q, 495Q, 471, 490Q, 493Q, 495Q N
s | OX0B19A1 WD615 Hi KR ot R i, s iR, Tiooaie R
WEICHAI XINCHAI
512630080 oo . : 490Q. 493Q. 495Q.  &71. 490Q. 493Q. 495Q R

e FS36210 BERS LN, REERE| Mok JX85100D s g s L
Sl RIZEN i IX85100 490Q/483Q/495Q JIES = e
WDK1110 612630080087, ot § i S

2/4 1117050A81DM,CRF1023,FF5740 o = S Eh AL Py CX85100 CX0810 490Q/493Q/495Q ke HR3E
Jxtote | 812630010239.VG1248070003/1, )L EE. B Lt 2654403 64101001 1004TG.1006TG1/2 S5 TR TR s
R120- _ . - - .
PHC-02 LRR= o 26561118 WERRMASIEDT | Bk
‘WK962/7 CX0818 i %kﬁﬁgkﬁ{ M E] T64101001 EERE. FX 3k
CRF1014 RER= o T64102003 140517050 FEKE. &% ik

ST
PERKINS
CRF1016 YC6G240-30 Fiom CAV296 7111-296 HEF E3:
6122g2051 W= E T Bk T64101003 BEKEFRAFOTON, mMEE| FhE-K
612600081 N
5 BEH= R Motk
e R90P X, B B o7k

027

028




N\onbpv\v =

N\onbpvw =

B o R B F 8 & B oHE KRB B F ¢l #
SAE o B
Bl Fame Ffs . %5 Rk RS RS . %5
b 2kilh =t E k=i
X122 HF6138 IR sk ol THH. K549 s
®T | YxX1113 LF&80 HIERN ik R | T e AHF1 434135 NKR66 i
XUGONG
LQX50 ik JX1008L BAWay. EEELE4112Q) Wk
JX1008A 293-1012000 YC68112ZBQ ?F‘N’éq%41gi.121405_ E5e W3l JX0705B 15601-87703 368Q, 462Q. 474Q BH. KREHp bilb:]
k3 " o |
R60S- oy -y KRZE. #IMAZE, TC8T N
CHAOCHAI  RO0S CRF1011 TR it IX0706 4620 e ot
Cx0710B4 FS19544 864105, 4102 SEEE, TR, SHEE | K JIXO706A 16510-73010 4680 x;ogmzo;ée;&%*, R
JX0814 RAZE, FH4100, 4110 | 4L BJ212 k4920 S, 4920 it
B4, FHE2105 EH . e 5
Cx0708 4100/4110/490 N G de| JX0805A BJ213 DR, kREEB213 | AU
CX0708A 1556498 S L i We7009 51495 o AT, s
—3XEQ140- . F3h495. ILAIRE495. ;
X0814B LF3720 iR T - WBF789 CX0806 495 T s
=8
JX0B10Y5 490 i’%‘go'ﬁ’ﬁﬁ 4:5;?' LTE | g JBaY EEAY. HIR491Q | HMSH. 4Y. BE491Q | AU
IX0810Y1E 490 RE. EHA100 it %0807 TCM. &H%E 3
= ; =% @, Jbh4Ts, 485
L, | oo 490 50136, NJ427 ot IX0808 e |
e
JX1010 490 %4105, £M490, ERIF ErI b DX200M ANXERETE ek
JX0607 490 st YK0812 2559760301 ahX%E it
DX1508 490 BEAE HEsE ook JX0808A T+ EEEMHLADA | AL
CX0808B e L3
L. ALRIRE483, &
Jxo811c1 L s
6110A 4105 # ) 3
JXOB11A RSO WENCS . |y
JX0811L HHLRA105 RAL. BB e | PLE
029 030




N\onhpv\v =

N\onbpvw =

o RN B T & # o R B F ¢l #
N AR MR -
o I RS - el @mhe  RES RS — %7
E&H =5 Zzhil %8
CA488. CA1046. s o . o .
JX0805D 1012010-D1 CA1026. CABA40 INRITABSIS Hid JX0809B1 = HE
X427 HsN427 LX427/NJ130/31 3t JX1008B JX1008A5 AHHK=. mE493 HLoE
Gxor12 WHER M. kHaes | SH RIBIR 020 FERAFKR= K ER
BF11-020 00
FF5116 BB, REE. AR | ESTFRE IX0708X IR Pl
2 .
JX0811J HI2135 k2135, 493 3 — EEAE N
WU BR468A. FRE504. ;
JX0706P LF3724
505 ol CX0706 TCB7TR7). K448 s
1902047 7301916EC e 0] ELR:H FEL490. L2105, = i«
CX7085 CX0708B A100. Ealon. 4105 L3
YC61082Q,CA4110Z,CA4 . :
1902138 CX0710B1,2992300 F5135 ; : REFT40-8. 2IRF% s : : :
1132,CA6110Z lgé%so 15208-W3401,LF3659 1282325, ACE22,9N8R BB R EP27 M
1902138 WK A BB RLEAT £ _F4£D6114, A% CAB110,
JX1023A 430-1012020A “BEECAGTI0 Ta E S L
YC61082Q
DX150A 97210330ED SR T8 BRRGA UNAL) RS | #iEK
| ! JX1023-1 $BECAG110 (F Q) g g i
e E&RGE. Y s T
s £A  JX0810B 156000-41010 —SRA CA498/1046C/CAB40% % % | #l3
z o
B 15601-78010/15607-1330 Ei1ATEWDEE | hiRd
1 P11120/12 5 .
A%, &4 (€99 :
1;5?317' 15607-1600/LF3618/15607-1733 BEHOTB E+HEHE | o | | U — BHDEJIDXTZOKISZ U5 |
JDBCIJOBCT/HOTD 55800 3TNV88,4TNVO4 3,R60-7, DHB0-75F 0,35 354155~ S
T 2A
- + e
234011332 BE. &% i 29150- . .
35152 *5 Lk
CX0709 B=&#FD46 £
H240C7- a8z .
pd: ik}
. s KTA19-G3/\#4D65/D85, 5t B . 50201 N
CX0811 3186170, 86170 SN 315 204 3 ror
52051' BAHXE Lk}
CX0810 290 295 485%7| s
214A7-
TCM it
JX0814C/D 1554102, 4105 HLit 52081
8-97049708- 4FC1T. 4FD1. 4ZA1. = R6353360 W3000-1105100-011 = K. I$. DE. Eg C3]
10 47B1. 4JA1, FJB1 Bte i
= ~ ST sk 3
WBT031 s i R5864380 W3000-1105300-011 BR= K. IR, TE. E& gl
RS K el i e CRF0709A T RET R Y
PH3519A 3 R60 #5#R CX1010 F56112 HE #i-ok
031 032




N\onbpv\v =

N\onbpvw =

o R % B T & # B o R B F ¢l #
N AR N FsEE
RiE RS B4S - ES] @i RES RS — %7
E&H =5 bzl )
¥ 2 HE.
RQ&;’"’?R . ETREE. KOE | Mook 15807 | 45607-1600, LF3616,15607-1733 BUSHIFX1J,GD2H FFIS237, BSFA| AL
(M 1731 E2JD8C,J08CT, HO7D
JAC31315-4Y4870/75355T ol 23401- s
DX800 & T Tk #hi-7K aan | 23401-1331,6.94393521-1,6-94394079-0/1 R | e
FEW04D
R60S-PHC-C B m, ST 3| BE 16403- UA521,UA33/RE8.RF8.PE6, il Y
= 00011 | FF5157.16403-99008,16403-AT101 RES,RF8 Dk SpAEimcE |
FS1235 RN, EEZHN. WR | K-k FH2P FQ2P, FR2P, FS2P, FN1E F|
2 11252;;) E13C-P”Cg’£55"075"° QIEFSIEFWIESHIE SH2P.G| 43
| | ©
R9OP (% " | N2P
" PR3Em-7K $2340-
11730 E13C,P11C,J0SE H EHINO st
(475)
R120(##F) $R3E-7K
AD0047713 OM4B0LA OM475LA OM501LA, 1828/1829/1831/2551/2555/2|
— N ) 02 RBO:MERO1/ES19737 OMB02LA,OMI0BLAOMO26LA  £31/2635/2648/3233/3235 | VA7 Y
(RHH) "= e PU99911X
- . #UWACTROS 3310/3340 L3
BRI R ESN CAKAE ., () -
500FG RUIGE 2010PM ) B00FG Bt |
BEFEIRIA CGAKBT o SWACTROS 3310/3340 | L
900FG RUIGE 2040PM BB 900FG #hiE 4
g £ D12/C380/D9B-260/D9B-310/DIB- |
1000FG RUIGE 2020PM BEBMRIISAI CARDE | g 20430751 FF5507/WDK11102 360/DH12DIDH1ZED12CIDIAD12 et 2 2B SIZMASIDENIER e
#Hpk) 1000FG DID16C/IDIBEDIIABRARME o0 7700a 8500,8700,9700, 9900
A @ 3 i oL =
Z& | JX0810D2 L i 3517857-3 LF3758 TD1°°'TD1%12‘TD102'TD1 F10;F12;F16,87,B7RBIMBIOM|  #L3
JX1012A K= #lif TD120F; TD100A;TD71G;VO . .
gy 1096343 LF3321/LF3758 TD120F;TD100A;TD71G LVOLE0L 1205110 HLiH
. < RIRK
CX070€:1 RE S R s TD71GITDI01GITDB1GT L120/L160SLI0/LASO0LAB00 oy
- D102G;TD100A;TD120C /F10.12 L
s Pl
1640 s NEBENSTROM(42);TD101
477556-5 LF3645 WP11102 P FL10 Hlod
— -
JX0605C 31255“1'51%%5;&"7] EEWE. BEER L
11711074 SKIREFM12 S
JX0811A1 1012010/4K HECA4113/4110 HLE
JAC- 20514654 |0386080/20480593/FS19704/FS19735 D12;C380;D68 FM12,FH12,FL180,FL220,FL250 | S7k
(51556 101030FA TER= L3
R791H/1012 - . 8193841 FF5272 WK962/7 TD63E;TD63ES FAREFMI3 5
BF11-02500 FRPMER= i |
[ [ i WF2096,1699830-4/1661964- | TD162;,TD71G;TD458:TD4 :
07704 K47 183983034 5/1661964/1669830 5D;TDB1G LOOMSGFAGIL 120170 RHK
G5800- _ ¥
1105240614 EER= KD B R
JX0811A2-A —RKEE HRER i

033

034




Monbow =%

H om kW - B F @&

Monbow =%

W@ kW - BT 8

i Biekel

mig | ERES RS £
CRF0810 SEAOE=K
JX0810D KECAL98
PLA20%5 3k
|U1§3Ei?)?)n()68|2 :‘E%ﬂﬂﬂ
JX0810D1 =W, 490, FE 5
JX0818B FREEN. % LECZOMEH
YX0818 WRNERARER
T s e
CRFO0810A 1117001-630-0009 e e e
CUWO0040 F]
R
W0050 =W
W0017 =H
JX0805A2
o SHREME. 20, WK
JLX-352 1012110-E02,JLX-352B i;ﬁiﬁ’;‘;‘a% fgff
612600080934 [IVE i i s A 2=
CX0706A4 —RAk. XEmEN
T
Jxog14ct %4102
CRFO707A ks

o o HAEE .
FRES BEfS — %351
R k=i
JX1005L TEHMIA Al
612630080 5
205-W e e
FS19922 R RRRAE Yesi-7k
5041995510 R _E SR ARG £
FS1616 FRRZEERDN #A3-7K
RSO FHRE=FERHH HR R ok
CLX-197A K $600p 3
6105QA- YCE105/YCE108/YCAF R, .
11053008 CXO0710A 145 ELS S
: ASHT1000 R 5] 3. K
JX0811G1 FIRRE FHPARKIMS i
612630080 WP10.300N f—
123
612630080203 R *ﬂiﬁ
612630080203 R 3 E
HEEER BORAETE
LF16013 1012010-D6,1012010-700-0000 —ARE. FR#E AL
1DQ000- o 5
1015075 YJX-6555 FELmEH i
FC-700-
1105350A*614 4F-115-30 FEEIRFNEE L3
&
FC-700-
1105360A"614 4F-115-30 FUEELARTNEE S
Z
CX0711B 1117060-29DB 546113 REL -7k
CX0709A1 1117050-29DB 546113 Rl a7k
CX0712A A3000-1105020 YC6108ZQB RE i3RI
CX0712B A3000-1105030 YC6108ZQB RE #rim-7k

036




Monbow &=

N\onbpvw =

B o R - B F 8 & Wmom R B F ot #
g RS RS Ll ESl]
AA. "D RITS = o =] = o
R k=] el S ERER ESl s EREL
8-04360427-1 8-07021576 4JB1T Fi1$4JB1/NKR2.5/NHR2.8 | M3
K3046AB(4Lit) FR. @M. mk KU2337AB(4E) —RAE. RE
JX0707 1042010-B1 —RATMECT . HHH4GBO Mt
K3046AB(#i iS5 KE. BR. mX KU2337AB(Hit —IRHS. 128
DX250B TARIA ES Vi) (BT k& =
EAi705ED838 = s K304BAB(IiE) ®R.RAR KU2841AB(4EL5) a1
S I T i3 —sie
VG1117050-70D . ‘ K3052AB(*T'Ii%) FAE. FHul KU2841AB(#:.15) SAREL
ClX2uaK P ‘ K3052AB(#)it) B OEEN. FRU KU2845AB(4515) —AHAR
D17-002.40 P ‘ K3249AB BREE. FRXA0DH KU2845AB (i 1t) —REAE
99452236 T EREFESR Bk ‘ K3250AB KA. #RAE. AR KU3050AB FRFERA
97211400 LT BRI R 5 ‘ K3251AB AEE PN KU2750AB FREXRE
LF16352 5262313 ISF2.8 EEEK S B ‘ KA4225AB BREFEL KU3043AB FREF
FF5706 5262311 ISF2.8 AW D] 2ESh ‘ K4230AB —RRe KU2437AB —RASE(TEE)
=&
1504168 B Hlih ‘ K2342AB BIRMEQ1S3 KU3047AB R
=E PUZEZE
‘ K2448AB(R:Er) AR, &%, A5 ®A KU3044AB BRER
‘ K2448AB(%F) AR £ A5 & KU3143AB RigEE
‘ K2640AB _5D61355 A KU2833AB D614
‘ K2850AB(4G:t5) REEF KU3245AB Fod
‘ K2850AB(L4 15) RETFE KU1330AB HRE
‘ K2648AB Byl KU1634AB BEXE
‘ EQ145. 6BT. M. 5%, W ME. At
‘ K2036AB o108 = KU2845AB Volvo

037

038




Monbow 2%
B o R - B F #

MONBOWH ERF =R E320145K

Monbow Monbow

SHEE - FrREMER/2HRR « EREEMRY/ SHFE - ERKRE SRS

Monbow Monbow |
il Monbowit Monbow Vionbow 1

Tonbow

Monbow

Monbow ST

e

BERSZMHEEE, SRREFARTET, AEXMAE.

kY 'P‘%"ﬁ'*i‘iﬂ‘dr‘lt'&*'@#*'dpi"ﬂ'#iﬁ*#i'w'«lr'l"lr'lf'k*"-'(r'l"k'vb‘dr'&"kﬂr'&*'&k
o X D

SRAFTFAETWTR, SR hRFAROE THfE, R0

PR H R E ST R ST AT el A

ABRBET RS E R R, FdiIECN T AR

- B AEEIETE AR9 2 I OEMAF T M40 LB I T T 2R

2. DR B IEJE B A R BT A B SR TS, T2
TR A T IE R 2R B % A7 1 T U RS A, AR
R E PSR BN RS S E T, S I S
ZUHE R RAER, N R SRR (RBARAT) - AF
S ARHHL PR 7% S B Y TR AR O T M B 2

3. e R B P AR A 2 A A G A R A SR R H 2 4/ Pa R
iy, FUABEERERARAEABHER .

- AR B MR 55 5 O B R 5 18 4 B A A D 0 W AR R R
T3, ISR L RE BRI R R TR R K

5. DL E7R i R AR 2 B OUAR A A RSERIEISER «

6. {ELL 1 B4R R Y L S Ak -

(1) LR AR E A I8 65 (EARIBEAFR) R BGRIOR, DR
WHERFRT .

(2) el T A FH R & AL S DA IR SR 1 DL o

(3) J& T UEHT AR MMk I L T o

(4) FEFAGH, BREARHILT .

(5) WoeRahbl, sl maiEmAEsLT.

(6) Uk 257 il i 5 250N AT RIS MU T

(7) T i Sh7e 3501 I P AR BT =

e 2 =i iEestHiEERAR
—O—pE

i i
B S e M o S M S A A M M S S i M M S S S e M S S S i M S S S e M o S S S



Monbow 2=

f m XK & - B T € #

WWW.monbow.com




nm

ita

onpqw 2520 1 4

& iEES (EIFR) HERAE)
HK MONBOW. FILTER(INT 1)CO.LTD.

k. e ﬁ:ﬁ?ﬁ%&‘@%ﬁfﬁ"tﬁjﬁﬁ%f
NO:88 \'h Road Linyj-National Es
0 %% (JEL) 486539 8333077 gm [FAX ) se 539 3333037

2
16

=
O
!
O

r_;

@
o
=
»
é
B

g International Trade Department
© Tel.:#86539°8806199 E-mailinfo@monbow.com
O Hittp:/Avww.monboiw.com

MANMonbow
BESRFEEBN~mER

HEAVY DUTY TRUCK FILTER CATALOGUE

HEsERER (EER) GRRE
HK MONBOW FILTER(INT'L)CO.,LTD.




